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Note : Answers may be written ezrher in English.or in Hindi; but the same medium should be

used throughout the paper.
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Attempt Five questions in all.
All questions carfy equal marks.
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1. Discuss the éﬁncentrahon Ratio and Hcrﬁndahl Index as measures of concentration in an
.industly - X ' 6,9
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Using the structure-conduct-performance framework in industrial economics, explain two-
way rélationship between them. ' S " 15
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What are the different sources of foreign capital ? Critically' examine its role in economic

development. ' | - 5,10
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What are the motives for dlverslﬁcatlon and vertical integration for a firm ? 7575
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Is it right to say,that. the monopolistic market structures favour innovations ? Give reasons

for your answers. L .' . _ : 15
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Distinguish between the productive. and economic efficiency. What are the determinants of

economic efficiency ? B S - " ‘ 6,9
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What are the economic dctermmants of industrial location of an mdustry ? Describe the

Weber smodel of industrial locatlon - . 5,10
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Write short notes on any fwo : ' 3 7.5,2.5
(@)  Social cost of monopoly

(b) Product differentiation

() ‘Total factor productivity

- (@) " Lemer index as measure of monopoly power.

463

el @ w dfa feomht fafed
R ol e —
() T ﬁﬁﬁw
(#)m-ma‘—f ERCCTl

_(a)aﬁ?mmfumﬂ'mﬁﬁmﬁmwia

3 7,000



	001.tif
	002.tif
	003.tif

